
P O L A N D

P O L A N DP O L A N D

P O L A N D

- 46 -

•	 BLOCCHETTI GIREVOLI
•	 SWIVELS
•	 DREHGELENKSTUTZEN
•	 BLOCS TOURNANTS

515

PART NUMBER TUBE Ø H L L1 TYPE
515 0604000000B 6X4 19,8 20 26 B
515 0809000000B 8X4 20,5 20 26 B
515 1007000000B 10X7 24 20 31 B
515 1075000000B 10X7,5 24 20 31 B
515 1008000000B 10X8 24 20 31 B
515 1209000000B 12X9 25 20 32 B
515 1512000000B 15X12 27 20 37 B
515 1612000000B 16X12 27 20 37 B

•	 BLOCCHETTI GIREVOLI
•	 SWIVELS
•	 DREHGELENKSTUTZEN
•	 BLOCS TOURNANTS

PART NUMBER TUBE Ø F H L L1 TYPE
515 0604000005B 6X4 M16X1,5 19,8 20 32 B
515 0809000005B 8X4 M16X1,5 20,5 20 35,6 B
515 1007000005B 10X7 M16X1,5 24 20 48,7 B
515 1075000005B 10X7,5 M16X1,5 24 20 48,7 B
515 1008000005B 10X8 M16X1,5 24 20 48,7 B
515 1209000005B 12X9 M16X1,5 25 20 49,5 B
515 1512000005B 15X12 M16X1,5 27 20 53,1 B
515 1612000005B 16X12 M16X1,5 27 20 53,1 B

515




